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Solving Linear Systems with Three Variables Using PlySmlt2

1. Which value is contained in the solution of the system shown below?
2x+y—z=1

x=2y+z=0
3x—y+2z=7

1) 0 3)2
2) -1 4)-3

2. Which value is not contained in the solution of the system shown below?

g+ 5b—c=-20
3 52 dq - 5h+4c = 19
3) 3 —a—5h-tc=1
4) -3

3. Which value is contained in the solution of the system shown below?
3x+y+z=-4

x=2y+z=-5
2x+3y—-2z=-9
3) 3 3)-5
4) -4 4)-9

4. Which value is not contained in the solution of the system shown below?
4x-5y+2z=130

3x+2y-7z=-99
10x—6y—-4z=112

1) -8 3) 10
2) -12 415

5. What is the solution of the system shown below?
6x—-3y+2z="78

4x+2y—-5z=-40

—3x—-4y-3z=-41

1) x=2,y=-4,z=6 3) x=78, y=-40, z=-41
2) x=7,y=-4,z=12 4) x=6,y=2,z=-3
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6. Solve the following system of equations for all values of x, y, and z using matrix method:
T+ 3+ iz =45

fx—3y+2z=-10
—dx+ 3y+dz="TT2

7. Solve the following system of equations for all values of x, y, and z using matrix method:
x+2y=3z-2

2x-T7T=2y~-z
xX+y+2z=-4

8. Solve the following system of equations for all values of x, y, and z using matrix method:
—x+y+2z=7

2x+3y—-1=-z
—4y+z=4+3x

9. Solve the following system of equations for all values of x, y, and z using matrix method:
2x—-y+z=17

x+2y-5z=-1
xX=y+6

10. Solve the following system of equations for all values of x, y, and z using matrix method:
y+3z=2x+20

—3x+21+2y=—z
3x-2y+3z=-9

11. Solve the following system of equations for all values of x, y, and z using matrix method:
y=-2x+14

Jx—d4z=12
Jx—-y=16
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